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ASSIGNMENT CLASS XIl COMMERCE

ACCOUNTANCY
Holiday Assignment

Class Xli

Q1l.Under what heads will you classify the followings:

1)
2)
3)
4)
5)
6)
7)

Proposed Dividends

Interest Accrued and due on secured loans
Interest Accrued and due on unsecured Loans
Provision for Taxation

Arrears of fixed accumulative dividends
Security premium Account

Share Forfeiture account.

Q2. Under what headings will you show the following items in the Balance sheet of a

1)
2)
3)
4)
5)

company

Securities Premium account
Preliminary Expenses

Bills Receivable

Goodwill

Authorised share Capital

Q3. Prepare a Comparative Income statement with the help of the following

information

Particulars 2015 2016
RFO 2000000 3000000
Gross Profit 40% 30%
Indirect Expenses (on RFO) 50% 40%
Income Tax 50% 50%

Q4.(a) The ratio of current Assets (Rs. 600000) to current Liabilities ( Rs. 400000) is

1.5:1.The Accountant of the firm is interested in maintaining a current Ratio be
2:1 by paying off a part of Liabilities. Calculate the amount of Current Liabilities
that should be paid.

(b) The Current Assets to Current Liability of a firm is Rs. 800000 to Rs.
300000. The Accountant of the firm wishes that current Ratio be 2:1 by
acquiring current assets on credit. Calculate the amount of current Assets.

Q5. (a) A business has current Ratio of 4:1 & a Quick Ratio of 1.2:1 . If working

capital is Rs. 180000. Calculate total current Assets and Inventory.

(b) Calculate current Ratio and Quick Ratio from the followings:



Working capital Rs. 150000, Total Debts Rs.400000, Long term debts Rs.
310000, Inventory Rs. 110000, Prepaid Expenses Rs. 10000

Q6. (a) Calculate current Ratio and Quick Ratio from the following information:

Total Assets Rs. 350000
Fixed Assets Rs. 180000
Investment Rs. 70000

Share holders fund  Rs. 200000
Long term Debts Rs. 100000
Inventory Rs. 45000

(b) From the following information calculate the Inventory turnover ratio.
Sales Rs. 200000, G.P 25% on cost, Opening Inventory was 1/3" of the
value of closing Inventory, Closing Inventory was 30% of sales.

Q7. (a)Determine the amount of gross profit and sales from the followings:

Trade Receivable Turnover Ratio = 4 Times
Cost of goods sold = Rs. 640000
Gross Profit Ratio = 20%

Closing Debtors were Rs. 20000 more than at the beginning.
Cash sales being 33 1/3 % of credit sales.

Q8. (a)lf Current Ratio is 2:1 state giving reason of the following transaction would

0] Improve (ii) Reduce or (iii) Not change Current Ratio
1) Bills Receivable drawn

(2) Bills Receivable Dishonoured

3) Bills Receivable endorsed to Creditors

4) Sales of Goods for cash at par

(5) Sales of Goods for cash at Profit

(6) Sales of Assets for Cash

(7) Bills Payable given to creditors

(b) If the Liquid ratio is 1:1, find whether the following transactions would
(i) Improve (ii) Reduce or (iii) Not change Liquid Ratio

1) Purchase of goods for cash

2) Purchase of goods on credit

3) Payment of Tax Provision

4) Sales of short term investment at par

5) Sales of Investment at profit

Q9.(a) Calculate Closing inventories from the following information:-

Total RFO Rs 600000

Gross Profit 25%

Inventories Turnover Ratio = 5 times

Closing inventories is Rs. 12000 more than opening inventories



(b) Gross Profit Ratio of a company was 25%. Its cash sales were Rs. 200000
and its credit Sales was 90% of the total sales. If the indirect expenses of the
Company were Rs. 20000. Calculate net Profit ratio.

Q10. With the help of the following information. Prepare Comparative Income
Statement of XYZ Ltd.

2017 2018
RFO 50000 80000
Cost of RFO 60% of RFO 70% of RFO
Indirect Expenses 10% of Gross profit
Rate of Income Tax 50% of Net profit before tax

Q11. Calculate Return on Investment from the following

Gross Profit Rs.100000, Office Expenses Rs. 10000, Selling and Distribution
expenses Rs. 25000, Interest on Bank Loan Rs. 8000, Income tax Rs. 12000,
Fixed Assets Rs. 300000, Current Assets Rs. 150000 & Current Liabilities Rs.
125000

Q12.The Debt-equity ratio of a company is 1:2, state giving reasons which of the
following would improve, reduce or no change the ratio:-

1) Debenture redeemed for cash
2) Issue new equity shares

3) Payment of Proposed dividends
4) Goods Purchased on Credit

5) Goods Purchased on Cash

6) Redemption of Debentures against the Purchase of a Fixed
Assets
CASH FLOW STATEMENT
1 Arvind, an industrialist purchased a machinery worth Rs.5 crores on hire purchase

basis. Categories the (i) payment of installment and (ii) interest into
operating/investing or financing activity as per cash flow statement.

2. Give two examples of movements of cash and cash equivalents, which are not
recorded in the Cash Flow Statement.

3 Give one example each of an extra ordinary item under operating, investing and
financing activity.

4. M/s.Lakshmi Electrical Appliances furnish the following information -

Calculate net cash flow from financing activities:-



Particulars 31.12.2007 31.12.2008
Equity share capital 2,00,000 4,50,000
10% debentures 1,00,000 -

6% preference shares - 3,00,000

Additional information —

@ Interest paid on debentures Rs.5,000/-.
(b) Dividend paid on equity shares Rs.40,000/-.

(© Bonus shares were issued to existing shareholders in the ratio of 4:1 during
the year.
5. P.Ltd. purchased a business premises for Rs.6,60,000 from Z.Ltd. Half the payment

was made in cash and the remaining half by issue of equity shares of Rs.100 each at a
premium of 10% in favour of Z.Ltd. How will this transaction be shown in the cash
flow statement.

6. From the following information, calculate cash flow from investing and financing
activities:-
Particulars Opening Closing
Furniture (cost) 2,00,000 2,80,000
Accumulated depreciation on furniture 60,000 90,000
Share Capital 10,00,000 4,00,000
Loan from bank 2,50,000 1,50,000

During the year, furniture costing Rs.40,000 was sold at a profit of Rs.30,000.
Depreciation charged on furniture amounted to Rs.50,000.

1. A company had the following balance -
Particulars Rs.
Investment at the beginning of the period 3,40,000
Investment at the end of the period 2,80,000

During the year, the company sold 40% of investments at the beginning at a profit of
84,000. Calculate cash flow from investing activities.

8. Apoorv Ltd. incurred as loss of Rs.7000 during the year 2018-19.

The following is the position of current assets and current liabilities of the firm:-

Particulars 2018 2019
Pre-paid insurance 5,000 8,000
Commission received in advance 2,000 3,000
Stock 10,000 15,000
B/P 15,000 18,000

Calculate cash flow from operating activities.



9 Prepare cash flow statement from following information.

Opening cash balance Rs.15,000, closing cash balance Rs.19,000. Increase in
creditors Rs.13,000, decrease in debtors Rs.17,000. Fixed assets purchased
Rs.30,000. Redemption of 12% debentures Rs.14,000. Profit during the year
18,000.
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BUSINESS STUDIES
Holiday Assignment

Class Xli

Make a project file on the basis of Fayol's principles of mgmt.that how these principles
applies in real business.students can take help from net.

ECONOMICS
Holiday Assignment
Class XII
Prepare a project for board on any one topic
Rural Development
Poverty
Unemployment
Education Sector
Health Sector
Economic Reforms 1991
Enviornmental Problem
Or

any relevant topic



CLASS XII
MATHS

Relations and Functions

MULTIPLE CHOICE QUESTIONS | (\/{=(e )]

'Orom the correct answer from the given four options in each of the
fallowing questions from 1 to 35 :

1.

+LletA={1,2 3}

- Letf: R — R be defined by

Let R be the relation in the set {1, 2, 3, 4) given by R = ((1, 2),
(21 2); (10 1)0 (40 4): (1. 3), (3, 3).(3. 2)). Choose the correct
answer.

(a) R is reflexive and symmetric but not transitive

(b) R is reflexive and transitive but not symmetric

(¢) R is transitive and symmetric but not reflexive

(d) R is an equivalence relation
If R be the relation in the set N given by R = {(u, b) :a = b - 2,

b > 6}, then
@2, 49eR LEBHaR (0 (6,8 eR (D@B.7eR
IFR be the relation in the set {1, 2, 3} given by R = {(1,2), (2, D },

<) &
{a) R is reflexive but neither symmetric nor transitive
neither reflexive nor transitive

(b) R is symmetric but . i
(¢) R is transitive but neither symmetric nor reflexive

i i ce relation
et 4 = 0 equwalex:ld consider the relation R = {(1, 1), (2, 2),
(3,3), (1, 2), (2, 3), (1, 3)), then RS
(a) reflexive but not symmetric
(b) reflexive but not transitive
(¢) symmetric and transitive
(d) neither symmetric nor transitive

2x, x»3
flx)=1x" 1<xsd
ax, xsl
= 4 f(4) is
'[l;l;egf( 1) +f(2({))' {1 (@ & (<) none of these
L ——————————— .
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5 rverse Trigonometric Functions
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W Teesmiaiet & stos s | 3T e that tay 2 4 ) 2 w3,
40, Thesaoluion ofshico” -+ 1)) =costan™ 5) s —— Q a 4
4, Thcvalueomn"[lan%)k s g Y-i + then prove cos™ x + cos™ y u X,
ity Showthat the domain of the function y = cos™ g\«- -4) 2
‘. (e l——— 8
42, 'he value of cos™ [ms6]s ‘["E--\fé]u(f 5],
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60.
61.
62.

63,
64,

65.

66,

67,

LB 26 L6 4@ 50 6 11 J
70 8@ %@ 0. L@ 12 N ""[“" i
B.® 146 150 160 1.0 180
9.0 20.(5) 2Lf) 220) 2.() 240

i
l

VATSAL MCQs In Mathematics for Class v (e uerse Trigonometric Functions 15
Show that the domain of the functiony:sin" (=2%) fs -1 ")] o 1)'“’64[-1]
Prove that cos”™ (=x) == cos”™ 5, ¥ € [+, 1], ' g B Fmdghcvaltlco(s»n [-2 3
Prove that cot™ () =t -cot™ 5, € R | 12010, 11 Campt. type]
] ol & o 4n
prove s s oo = £ vx e 1), —— (""5) 12010)
Bl . 1 : s oA 1.
Prove that se¢™ x 4 covec x-2 YxeR-[-1,1]. " FindlMVi'””f"“['j'sm (-EH [2011)
I <1 then prove 2tan~ x « tan™ —=. . (1. -’(_1]. (2012]
: N L 7, Fiod the value of €% (5 Sl b
-1 -l (2012
Prove that 3tan”™ & « m-l[Sr x:] Iy [ ] 3[.] 8. Fmd[mvalueoftan (43) - sec (f].
1-3 3 1 2] [2013)
. ; . d the value of tan”" (1) + cos ( J
Prove that 2 cos™ x w cos™ (262 1), 0 s x 51, 9, Hoa 2
ANSWERS 10, ind the value of lan'l\@-m('l (V3. 2018)

1, then find the value ofx, [2014]

12, ifan” x4 an” y =E.X)‘ < 1, then write the value of x +) + 1.

5.(h) 26.() 2. 2B.(a) 29.(c) 30.(1) 2014
f A 3 !
B RO B Ko B2 1+ poyet 3o o G - 421, ”['E'EJ' (2018)
- 1 f4\r 2 4.8 1
IR 37‘3 3. 39, No solution 14, Prove that 3 cos™ xw cos (4x" =3x)xe| =1
= X X [2018 Compt.
0= 4a4.X wnl o — A U, [ ] s-
2 8 b 15, Find the value of tan™ 3 - sec”'(-2). [2018 Campt.)
AUIEST ANSWERS
PREVIOUS YEARS CBSE (XII) ;,gug.smrgg S "
2 n e 23 32 4l 52 81 7=
1. Findthevaluco!wf](m?')tsin"(sin?] 12008, 1 3 6 ) 5 )
"3951'101 i1 o121 183
af . 3 \ b :
2, Find the value of sin '[sm—;]- Rmi : 2 5 3
| |8] |

- 7
3. Find the value of cot™ [cos -65)

12009, 11




immm
6 IfA lssqwcmt(r:): ;uc::ham
e ric a0
(he matrix A is both symimet
’ glnkadlﬂzona'mn we (@A
(c)A 5 a square matrix

() !

Choase the correct answer from the given four optwm in each ﬂlh
following questions from 1 to 47 :

1,

I Aand B are symmertric matrices of same order, then AB - a,\,,
(a) shew-symmetric matrlx {b) symmetric matrix
(d) identity matrix

(¢€) zero matrix

cosn - sine

fA= [u B]lssud!d\nm =, then

! @x=2y=43"3
; () x=2,y= 3,5=4
\

o |

=, then (1 +A)" - TA s equal to

(d) 3A

d ske\vqmmclrlc then

200 matnix

(d) none of these

8.
a) 142, 2ipy=0 by 1- a*ﬂv-
1-a*-Pr=0 (1 +a’-Pr=0
® x+y+z| |9
gmvalnaofxymdsfmmthcequmiom x+z |=[5]are
' y+s 7

) x=4y=25=3
(d) none of these

2 0iA= A
[Smd MG]lMA+A -'. “lhtmhxo'uh 10. “Icvn'mdk 2 non- mm]m»’ 5
Wwe O3 (@32 (= 1 2 3]”‘[1 0 2] [4 4 ]}ls
3. Matrices A and A will be inverses of each other only if 42 345 (42014
() AB = BiA (b)AB=BA=0 0 (d) none of these
(c)AB =0, BA=] (d)AB=BA=1 (@)1 g (b) 2 (©
12 0]f0 u.u.«s[] 2].mmA‘-sAo7ns
4, Forwhatvalucof x:(1 2 1]{2 0 1][2]=0? 3
10 2fx | @0 )1 {e)A (d) nonc of these
12, 17 A and B are square matrices of same order and B is @
(2)=1 (b)0 (c)2 {d) none of et skew-symmetric matrix then A'BA is 2
02 = ' (a) skew-symmerric matrix (b) symmetric matrix
5. The values of 2 il the marrix A » | x y -¢| whichstih  (¢) zaro matrix (d) idantity matrix
X -y % B8 waa| ¥ ¥, i matri
the equation AA' « | [zx-a rsl is  symmetric matrix, then x is
1 | 1 (0)5 (b)3
@Wx=37=,y=3=,1= ()4 (d) none of these
\_E g ’Tg ' :75 i 5 x ~
blredyelenl  Wthe matix A=(4 -2 -3 is o singular matrix, then value
I A 72 2
~] -1 -1 of ¥
(xz—,y=—=2m
3 w E (ﬂ)‘\':;u (b)'\,-_lz 12
(d) None of the above 29 29 ©@x=35  (d)noneofthese

e
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VATSAL MCQs In Mathematics fo-

sin
15, Given that A « [cosx ]nndA(adml k[ J

valne of k

(1 (b)2 ()0 (d) Mo o |
16.  For any two matrices A and B, we have B

(I)M=M (b)AB:BA [C)AB=0 (d)mﬂl'o{h

17. 1A and B are square matrices of the same order, ey 0,
(A~ B is equal to A

WA -8 (b)A -BA-Ap.
(€A -B*+BA-AB (A - B4+ B 4 ag
23
2 =13
18, liA= =4 <2 th
[_4 ; 1}amﬂi 4 <)) ten
15
(a) only AB is defined {b) only BA is defined
() AB and BA both are defined  (d) AB and B4 both are defiay
005
19. The mamlx A={0 5 0llss
500
(a) scalar matrix (b) diagonal matrix

(€) unit matrix (d) square matrix .
20, 1 A and B are symmetric matrices of the same order tben
AF-BA'is4

|
(a) skew-symmerric matrix ~ (b) symmetric matrix :
(¢) zero matrix (d) identity matrix '
21, Construt Ay st where g =|- 4 ]

1 -] Ofw
T o g g e

22. Find values of a and b if A « B, where ’

A'[ad 3”],3- u+2 42 |
g -6 § -3
(0 a=2andb=2 (b)a=-2andb=2

()o=-2andb=-2 (d) none of these

€ .
hSSXn‘ S( s

19

o srsty (o

(b)xs~landys2

=1 Dﬂdy-
(a)x (d) none of these

()x=1andy=-2 |
dmaﬂioesﬁ: o and B = b9 s
24, Thesum 45 -4 -5 0

000
Do
" ] 0 [0 4
(¢) ot passible () none of these

25, Total number of possible matrices of order 3 x 3 with each entry 2

?3109 (b) 27 (¢) 81 (d) 512
26, lfAmdﬂaretwnmamoesollheordch xmand 3 xn, respectively,

and 1 = n, then the order of matri (54 - 25) s
(a) et x 3 (b)3x3 ()mxn {d)3xn

27, 1fA fs matrixof order m x n and B is & matrix such that A8 and BA'
are defined, then order of matrix B is
@mxm  (Mnxn (nxm  (dmxn

2, lfmamxA (ayly g where &= Lif i#] and ay=01{=fthen
s equal to !
(@) £ (unit matrix) (b) A
€0 (d) none of these

29, On using elementary operatians Ry - Ry - 3R in the following

umm42-1220m1h1w
Q13 3" 0 3/[1 1]

o S el
N HEH

3011 4

S x
= [y OJ and A is symmetric matrix then

(n)x-y (byx=0 ()y=0 () x=y



20

3L

32

34,

35,

36,

T

VATSAL MCQs in Mathematics fipy. Clags x"[

The sum of fwo skew matrices is
(a) symmetric matrix (b) null matriy
(¢) skew-symmetrie marix  (d) diagonal magyy
If A is symmetric matrix then A" is
() symmetric matrix (b) null matrix
(c) skew-symmerric matrix  (d) diagonal marris
. 1fA is any square marix then both AA' and A'4 ape
() symmerric matrix (%) null mai
(c) skew-symmerric matrix — (d) diagonal marriy
oo
fA=(0 2 0|, thend®is
00 2
()54 : (b) 104 (©) 164 @
2 01
fA=(2 13 'MAZ“
1-10
[4 ' 1] [5 1 2]
@419 Mo 2 s
11 0] 0 1 2
51 2 [5 -1 2]
iy 2 8 @lo 2
81 2 [0 -1 2

IFAis 2 square matrix such that A° = 1, then A”" is
@A+] (b)A ©0 (d) 24

I A and B are invertible matrices, which of the following &
Incorreen?

(e) A = |44~

(b) det (A7) = (det )
CI7RY R R

() (48)™" =57'4""

38, lfAmdBaremomnimmhthatAB Aand BA<5, en s

aqual 1o
() A (b) B
39, ‘:;h)e:pu:;cfa Symmetric matrix is 3
mmetric matriy '
() skew-symmpsric matrix e

(d) diagonal matrix

Matrices

40.

41,

0 7-5
42, Themamix A=|7 011|%

43,

45,

u |

108

IfA = [1: ?]md8=312
001

(a) only AB is defined () only BA is defined
(c) both BA and AB are defined  (d) both BA and AB are not defined
tan” () cos™ (5-) ~cat l(zr) cos” ( x J
If A--’- 2n ' an
; sin"[-"-] sin”ax)
2n
thenA-Bis
(a)!

then

B=

Sllh-

sin™ (%] -c0s™ (=)

)0 O (@) %1

5-11 0
(a) symmetric matrix (b) null marrix

(c) skew symmetric matrix {d) diagonal matrix
1f A and B are square matrices of the dame order then (A + B)

(A-B) s
(b)A’ AB - B

[a]A2 B‘1
(©) A%+ BA-AB- B (d) 4° mw’w

. Use elementary column operation C; — C; + 2€; in the following

w1 1}
ofz 3 o1 3] @ o3 o] ]

L el

Choose the sealar matrix from the followmg options

bodol)

(a)A-H by [0 0 0]
0




| 2 VATSAL MCQs in Mathematics f"'Class iy
12 2
8. 1 A % 21 -2| stisfes A'Aw Ithen . y i
2% 1y
(a)3 (b)0 (c) -3 ()1
47, 1fA= [y} is square matrix of order 3 # 3 such thar R
s Ty
() symmetric matrix (b) null matrix
(€) skew-symmetric marry ~~ (d) diagonal marrix
v Following questions from 48 to 54 are to be
requirement of the quastion : I o
X t
|
8. 1A« 2| thearis |
3-
" [ 50 sin)
49. If M (0) - st cos[)].."lmv that Mix)M(y) =Mlx+y),

Fllin!hobhnkshuum

50. Show thatA +A'isa skew-symmetric matrix if A » [3 4]'
51

:; Construct Ay,  matrix where i |20+ 3j).
; :‘f:-néa 1B (73] then fin a non-zero matrix € such

53, Axdiag[3 -2 1]and A =diagl1 3 =2), find 24 - 38,
0a 3

54, 1f the matrix |2 3 i5 3 skew marris, find the values ¢
¢l 0

a,band e

55, the following questionsfrom 55 to 65
e, MALFX I both Symmetric and *cw.symme"ic mﬂﬂll'

“' UAMBM »
Symmetric matrices of hea AY
lynlmenieifando:nyu ) b Of same ordes ¢

:;- lfA issymmeis matris, then A% i maurix.
59: mmmx‘whch 15 001 square matrix js called g ___— m:ﬂ‘
wﬂly mnyg r::e o MOre Tow operations while finding X
then 4™ OPeTations, we obuin al geros in one Of ™

R

ntrices n
60. Matrix muliplicationis _____,
61, Matrix addition is and .
62, For addition of two matrices the same.
63. Sum of wo symmetric matrices Is always a matrix.
64. IFA Is shew-symmetric, then kA (where k is a scalar),
65, Transpose of a column matrix s a Matrix,
ANSWERS
Ly 20 3@ 4@ S5 6. ()
7.(b) 8.(c) 9. 10.(b) IL(®) 12(n)
130 WGeE 150 16d 17,0 18
19.¢) 206 2L 2@ 2@ 24
25.(d)  26.(d) 27.(d) 2B.(2) 29.(a) 30, (a)
M R @ M@ (D 36
(0 3B 39 40.() 4L 42 (c)
4.() 4. 45.() 46 AT
¥ 7.8 14
B.A=(2456 51-[ ]
«] 2
369

kllk k
52, :
[2)(]'{2* 2*] ete,, where k is o real number

53.diogl3 -13 8]  Sda=-2b=0,ce-

55, Null matrix 56. AB = fA 57, Synumetric matrix
58. Rectangular matrlx 59. Does notexist 60, Assaciative

61. Commutative and associative 62, Order has to be
63, Symmetric matrix 64, Skew-symmetrle matelx

65. Row matrix

PREVIOUS YEARS CBSE (XII) Lo 18/ A[0])'5S

1. Construct & 2 x 2 matrix A = [ay), whose clements are given by
12007)

13 [y 0] [56
2. ﬁudd\evaluesofxandylfz[o x]+[l Z]-[l 8].12008’
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VATSAL MCQs in Mathematics for Class XII (C
3. WmaixA=[1 2 3], writt AY, where A'ls the transpose of

i
4, Findthlueof:r,if'2’,_x 3‘1-:_5 3

wso -snn

ne|
sinu cosu

, then for what value of lsAanldenn,,\
matrix? !2010]

[1 23 1) (71 ,
6 If 3 4] 25"k u}.mm«wm&noﬂ.
[2010, 12}

Matrices

) a+h 2) (6§
2 "[s b]=[2 ZJ.tbcnﬁndc. (2010 Conpt. Tyl

8. IfAis a mateix of order 3 « 4 and B is 2 matrix of order 4 x 3, find
the order of matrix (AR), (201

ey 3y (66
9, -
If[ 0 4] 0 4 12010 Compt,

10, If a matrix has 5 elements, write all possible otders it can have,
(201

] , then find x,

11, Find the value of x + y from the following equation ¢

1 .
Zx 5 ‘3-4: 7 6l
7 y-3) |1 2] sl
a-b ¢ [-IS
u-b x+df |0 13) s

12012

12. Find the values of ‘o' f [

01 -z}
13. For what value of x, Is the matrix, A=/=1 0 3 a thew
X -3 OJ

symmetric matrix? (2013

1 -1
14, If matrix A a[_] l] andAzab\. then write the value o k.
{20131

(2014

34 (L yl (70
15, lrz[s XHO IJ'[IO s}. find (x - y).

i

10
16, Solve the matrix equation for v, [¥ l]{_,, OJ'O- [014)

17, 16 A i 8 square matek such that A° = A, then write the value of
7= (- A, where s an identity matrix, 2014]
Write the element az ofa 3 v 3 matrix A = (d) whose elements ¢

-1 12015

"

18,

are given by a =

Use elementary colutn opetation Cy - Cy + 26 in the following
marrix equation :

21 (3110
[2 on oJl-l 1]
twrite the murmber of all possible marrices of oder 2 x 2 with each
emry |, 2or3, [2016]
00 -3
21, [fmatrix A :{2 0 -l]iss&ew-s)melric. fint the values of o'
b1o0

19,

[2016]

2°A

and'b’ (2018]

Find the values of x and v from the following matrix equation :
Sfr § 2 3 -Il_ 7 6]

'[7 y-3 [1 2 [IS 4] 2017 Compl.]

Q2

12 2

DA« 21 x‘ is a matrix satisfylng AA' = 91, find x.

22 -

12018 Conypt,|

If A and B are symmetric mateices, such that AB and BA are both
defined, then prove that AB ~ BA s a skew-symmetric matrix,
120191

24,

' 2 3]
2, Rnlhtlum!ﬁ'[s 7|- find (4« A") and verify that it is

Symimetric matri, 12019)

26, A Is  square matrix with |A| = 4, Then find the value of
(A« (adj A}, [2019)
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F it

27, Porwhat valueofxis (1 2 1]]2 0 1{|2|~07

2 9
Yo 8

5.0'0'
9,x=2
12.a=1

16,x=2

VATSAL MCQs in Mathematics for Class XIl (Chsg

1

1

ANSWERS

] 2x=3y=3 31 4 4.x=1

6. k=17
10,5% Land 1 x5
13.x#2

17.-

a6l

22,x=2,¥%9
26, 160r 64

23.x=~3

27.xw-1

| o] |

—7

2 0}|0

0 2| x {2019C0mp¢'

T.a=4 8.3x3
ILx+y=11
14,k=2 1510

1
18, -
2

20.81  2l,a=-2andbw=

.y ]

Determinants

v

MULTIPLE CHOICE QUESTIONS H{)//(®(013}

Choose the correct answer from the given four options in each of the
following questions from 1 to 47 :

0 ¥-0 x-b
t+a 0 x-¢

L If flx) =  then

r+b x+¢c O

@fl}=0  ®)B)=0 (0«0 (DRD=0

20 -3
2.1 A=0 2 5[, thenA exists if
113

{a)h=2 (b) 122 (@ A#=2  (d)noneof these
3 x| [3 2
3. The values ofxfotwhichL ‘

1l |4 1
(@ x=322 () xu-2/2 () x=2/2 (d)noneofthese

0 Oy Oy
4 Ifa=|ay Gp Oy
3 Ox Oy
Alsglven by
() ayCay t oyl + g3ty () g Gy + gl +255Cy
(c) az €y +09aCha +aggCyy  (d) 2y Cyy + ey Oy + oy Cyy
a b c
e+2r be2y co2is
X y 3
(@0 (b) vz (c) abe (d) nane of these
6. A square masrix is invertible if and only if Afs a
(a) null matrix (b) singular matrix
(c) non-singular (d) none of these

mc,jiswlacmolng.thmdmalueof

5, Value of




VATSAL MCQs in Mathematics for Clag (g p r”,,,mr:ms

124

uA=5 7 8

find the co-factors of clements o 7 nd
9 10 12

o -2dand-3 @2ad=3 (©-24and3 (d)pgpe

jo matrix of order 3 and |A| =5 thp i they

8. IfAisan imib d
lue of [ad)
02 0I5 @ noneopy
g, 1 be square matrixaf order 3, then the value of 24 Where a‘
=4,
(2) 64 (b) 32 (c) 16 () none ofy,
10, faissquarematcxoforde 3 such that [adj A| = 64, they AI“‘
(a) 78 (b) -8 ©8 (d) none of
11, 1fAand B are non-singular matrices of same order, then Ay and iy

arealso
(a) null matrices (b) singular matrices
(¢) non-singular matrices (d) none of these

0 cosx siny
cosx sinx 0
sihy 0 cosx

12, If cos 2¢=0, then Is equal to

(a)% (b) sinx (c) cos.x (d) none of they

1 -2 5§
2 x -l
0 4 2

13, There are two values of x which makes, « 86, the

sum of these vakues is
()4 (b) 5 (€) -4

1 1 1
14, The maximum vale of | 1 1+siny 1 s (x isa red

14cosx 1 1

(¢

number)
1
s a2 ©p (@ nomeoltes
3 P
15, Letabe

SAuare matrx of order 3 x 3, then | kA| is equal 10
WHAL 2y @] (@RI

]
nx cony sy

CO8X sinx oo =0 Ingh
g
LS X cosy sin y

g6, The number of distinct roorg of

-n
intcrval';;ﬂsgis
(s) one OYwo — (q)teg
g7, IfA s an invertible matrix of order 3, he it M.‘:)knonct:f these
Wt O i
du(py 91 (d)0
fa, b, ¢ are non- s
18, Ifa g wlvtn'(:alnumbcrs,lhenthemvemofmamx
A=[0 b O Is
00¢
0-1 0 0 'a o 0
@fo &1 o (b) llo b o]
abe
0 o ¢! 00¢
. 100
(© = 010 (d) none of these
001
1 sind 1
19. let Aw|=sin® 1 sin|,where0<9 <2 Then
-1 =sin® 1
(a) det (4) =0 (b) det (A) € (2, =)
() det (A) e (2,4) (d) det (A) e [2,4)

X+2 x43 x+a
x+3 x+4 x+b
x+4 x+5 x+c

(@0 ()1 OF (d) 2

21, Let A be square matrix of order 3 x 3, |A| #0and [kA| =k|A] then
kls
@0

20, 1fg, b, ¢ are in AR then determinant s

(b) 3 ()9 () 27



22,

23,

24,

25,

26.

p B -6 2
indxif A=|-6 7 4 i5 8 singular matrix
-4 x
(a) 5
a) (b)3 (©)9 a2
wsx siny 0
Findxif A = |sinx ensx 0 i$ a singular matrix
0 0 1
(a) 2 : '
: OF ©3 O

Find 7, if the system of
! equations 3x - 2y + 2 =0, Ax -
=0, % + 2y = 3z = 0 has non-zero solutioﬁ o

(a)7.=5 Mrs0  ()hz5  (d)k=0
11 1

The value of determinant I 1+ x 1 | Isequalo
1 1 1+y

() M)y @y @

The system ofcquationsn'z,w3:=7,Z\’~y-5:- 13«
-xay-z=11 « 0 can be writen as

el 1 2 3] [7]
@yl 2 -1 -5|=|B

z -1 ]-1‘ ‘“_

[1 2 3 x] [7]
IRt

L—l 1 'l. ” »ll.

W (12 37
©y[=| 2 1 5|

o [ 1 -l

)2 3 7
@) 21 5=lx? 3|13

e I

Determinonts i
27, IfAand Bare pon-singular square MArices of the same order then
adj(AB) s
(a) AB (b) B
(¢) (adj A)ad B) (d) (ad) B)adi A)
28, I(A%-A+ 1= 0then the inverse of Als
@A+! (by1=A () A-1 @+
koo
29, I A=|0 k 0}. then value of [adf A| B
[o 0k
(o 7 Bk (@8 (d) none of these
30, 11 is square matrix of order 3 such that || = 3 then the vilue of
o (o )]
(@9 (b) B ()6 (d)27
31, 114 is square matrix of order 3 such that |A] » 2, then the value of
adj (odj A)
(a) 24 (b) 34 (A (d) none of these

32, 1f A s square matrix of order 3 such that ady (24) = k (adj A), then

the value of k i
()2 (b ! () I {unle matrix) (d) 0

33, 1t A, B, Cae invortible matrices, of the same order then ey is
@ mae s @1
34, IFA s invertible square matrix then odf (A") is

@A (b)A (© (odiA)’ (d) noneof these
4-x 44x 4o
35 1 [4+x 4-x 4+x]»0,thenthevaleofxls

44x 4oy 4-X

(@) Oand=12 (b)Dand 12

49 x X
¥ x+9 X |isequalto

(¢) 12 and =12 (d) none of these

36
| S W

(a) 243 % (b) 243 (x +9) (c) 243 (x = 9) (d) none of these



VATSAL MCQs in Mathematics for Class XI |

l:::r2 111

0 aell y £ b & ) tend-d el

| g2 8
Mo O ©1 (moecoltiy
A ¥ 1 ABC

WA=y 18 =|x v o] thend-yisequilto

ad) WEY
(a) e Bxayex (90

(a+1){a+2) (a4 1
39, [0+ 2)a+3) (@+3) 1= ——.

a+o+4) (a+4) !

(a)2 (b 52 (¢)-2 (d) none of
Y4y y+r 44X
40, Wriethevalueof A=) 2 X ¥ |\
e B
(a0 (b) xy (c)3 (d) none of th
@ avh  athee
41, Writethevalueof A= 2% 3a+2b da+3+%
% 6a+30 10046b43%

Oy O (c) ab (d) none of
x40 b ¢
0. Saveforx:| ¢ x4b a [=0 wherexz0
g b x+c
(@xrfatbtc) (b)x=~(atb+c)
(¢) x=-abe (d) none of these
Jexr -6 3
43, Solveforx:| -6 3-x =)
303 -~

®r=0,59 (B)x=09

M Determinants

(d) none of thes

(c)x=0,-9 (d) none of the

Ytk x X
44, Write the valueof 4 =| X irkox
XX Lk
Wa=k (®) 4 B 3x-K)
(¢ 4= K3 +K) (0) none o these
x=1 1 1
45, Soeforx:| 1 x-1 1 ]=0
11 x-1
() x=-1%2 (b)x=-1,2,2
(==, -2, (d) none of these

sind cosp cos(B+ )],
sing cosy oosly +06)

sine cosa cos(a+
46, Write the value of A =

(a) A=sing (b) &= cos p
(c)4=0 (d) none of these
1 b befb+c)
41, Write the valueof A = |1 ca cafc+e)
1 ab alfasd
(a)4=0 (b) A=abe
(c) A= b+ B¢+ ca (d) none of these

Following questions from 48 o 55 are fo be answered s per the oxact
requirement of the question:

123
234

J 45

123
l T
10~

48, Without expanding prove that |

o adel |11
49, Wihout expanding prove that; ¥ b caf w =fa® B* ¢*
G ooa| @S
50, Show that points (b, ¢ + a), (¢, @ + b) and (a, b + ¢} are collinear.
81, JE(x, ), (a, 0,00, b) are collinear, then using determinants peove
thit 24221,
0 b
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b"c2 be b+e
prove that ot @ cval=Q
3 ab a+b

of a line joining A (1, 3) and B (0

53, Fad M COMION 4 1 0) i poie such lhatolt;?

). Units- ‘

the equations 3¢ = & + 2= 4, 2y 43,
x-3 *kzs(}myhamunique solution.

55. Fomhmvalmft,domeeqnations.ix-Sy-2n.g St-dysy
:-2,7}02)‘45"1 have no solution.

Fil nthe blanks i ach o th follwing questions from 56 10 64

56, 1/ the system of inear equations AX = B, B =0 and |A] 20
xo 0,y 0and 2 =0 is called a5 solution.

§7. 1f In the system of lincar equations AX = B, |A| ¥ 0 o
(ad A) B =0 then equation are called as

56, lstsquartmntxofordethB,thcn |34} is

59, 1fA it dnvertible mateix of order 3 x 3, then IA'll fs :

60, If A i mamix of order 3 x 3, then the number of mives|
determinant of A are

61, The sum of the products of elements of any row with the co-fa
of corresponding elements is equal to

62, 1f A and B are matricss of order 3 and |A| =5, [B] =3, then [3¢
is equal to

63, For a squdre matrix A in matrix equation AX = B, if [A] =0%
(adj A) B # O then there exists .

64, 1A 0 square matrix of oeder n, then [adj A s equal 10—

ANSWERS

LY 2@ 3w 4@ S B¢

10 86 96 10.@ 1.0 12"3

BO e B 16 0.0 B .

DO 26 a@ 2p a6 A

Bl B0 w@ b 2.0

.1‘
0.1 3 ) 31.(a)asadj(adif*"|"r '

RO 3 40 o)
0 @ B /O g
B 1@ 4 W 4@ 420 8

5. Wihout expanding

.

e

5 |

4.0c) 45(0) 46.(00 47.(a Shy=Gramdk=12
54, k¢-1 55.k=8 56, Trivial solution 57, Dependent

58.27 |A| 59.171|60.9 61, Zero 62, 405

63. no solution 64, |4l

PREVIOUS YEARS CBSE (XII) [(01L:3A (0]

1. Find the area of triangle whose vestices are (2, 7), {1, 1) and (10,8),
[2007]

sinu cose coa{u +4)
sinp cosfy coa(f+4)
siny cosy cos(y +d)

(20071

2. Without expanding, show that =0,

3, Using the properties of determinants, prove that

X=3 x-4 ¥-t0

x-2 -3 x-fif=0, (wherea,f,y arein AR)  (2007]
r=1 x=-2 Xx-¥
atib c+id
4, Evaluale.“id il [2008]
5. Flnd the co-factor of ay in the following
1 -3 5
6 0 4. (2008/
1 §+7
6, For what value of x, is the following matrix singular?
3-2¢ x+1]
“ml-ﬁnw eou 607 (2008)
8. A matrix A of order 3 x 3 has determinant 4. Find the value of
|A]. (2008, 2012 Compt. type]
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1. IFA i an nvertble matri of order 3 and A| = 5, then fnd [

(2009, 2011

ladj4
12, Find the minor of the element of second row and third col
(a33) In the following determinant

2 -3 5

b 0 4

1 527

13. I Ais a square matrix of order 3 and |34 » k|, then wrire i
value of k. (201

14, WI:’:; positive value of ¥ makes the following pair of determinan
equal? '

23 4
56 8
bx 9x 12¢

a=b b=¢ =g
be=¢ c=a a-bl,
c-0 a=b b~¢

9. Weite the value of determinant

10, Write the value of determinant

(2010, 2012 iyl

P [2010, 2013 type, 2014 typ
§ x'[5 4013 op; 200

15, Aisa square matrix of order 3and || = 7, Wrte the value of a4

LR
16, IM-[2 _J.tbenﬁndlndjﬂl.

17, 1F[A] 2, whete A fs 4 2 x 2 marrix, find |adjA). (2010
cos15* sinl15°

18, Evaluate lsin 75 et 750{.

19, If A:[: 32}, write A" i terms of A,

20. Amatrix A of order 3 x 3 s such that |A| « 4. Find the vale
|24]. (2011 Campt,, 201

A I A -[f ;},ﬁnddrvalucoflildl. (2011 C

Determinonts
0 1 -2
-1 0 3 askew

. (ot of x, Is the matrix A =

[2013]

4 such that |ad) Al ;264, find [A].

”mﬂw" i mﬂmx?
013 Compt.]

93, If A ls a square matrix of order

5 6 -3
-4 3 2, thenwrite the cofoctor of gy of its 2nd row.

4 <] 3

U, IfA=
[2015)
X4y yrs xtt

x )y
-4 -3

[2013]

25, White the value of & =
! -3
[2016]

T '
= » 8, then find the value ofx.
26, Il A s ;’

425
203
-1 10

)

write the value of det(2A
' (2016 Compt,)

27, Given A -[

28, If Ais a square matrix of order 2 and |adjA| =9, find |A|.
(2016 Compt.]

80
{0 SJ then write the

{2017]
, compute A™ and show that 247 = 01 - A
[2018]

29, 17 for any 2 x 2 square matrix, A(adj A) =
value of [A],

30, Glven A 24
<4 7

2 3

M 1A= -
I [S ‘2} be such that 4™ = kA, then find the value of k

(2018 Compt
538
201,
12

(2019 Compt,)

32, Find the co-fator of the clement ay, of the determinans
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3 2

-1
PUER E ] o v
33.1fA=| o 2 ‘

38

1 (2019
A i ' =9, th
34. ng is a square matrix of order 3, with |A| =9, then write the

of |2+ adj Al- Ly

ANSWERS :

2 3

1. 23.5 sq. units 4.a%+b*+ Z+d® 5.46 6.1 i
7.1 8. 108 9.0 10.0 11.25 12,18,
3,97 la.x4 1549  16.-11 17.2 18.0 6oy

102 3]_1,20.4 216 222 2.4

19|5 -2| 19

24.3 25.0 26. 2 27.8  28.|A| =9 29.s§

12 19} ;

4 1[7 3
30"‘1:’[ ] 31k =L [ il
204 2 k=327 33.| 5 |UH

!
;
}

EE -



Class-XIl
Subject-English

Q1l.You are the students’ Union Advisor of Shri krishan Senior Secondary School,Ujjain.Write an Election-
Notice inviting nominations for the posts of President,Vice-President,Secretaryand Treasurer of Union.

Q2.Prepare a poster on kindness to animals to be displayed in the city at public places appealing to the
public to show kindness to animals.

Q3.You have a degree in architecture and have worked for a British firm for five years .Write an
application for the post of Senior Architect in Atul Constructions 15,Gurugram.you are Mridul/Mridula,a
resident of 56,Cross street,New Delhi.Prepare a Bio-data to be enclosed.

Q4.Should You Be Worried About the Coronavirus ? Is it a cause for caution and not for alarm ? Express
your views.[150-200 words ]

Q5. Read Lesson-‘Journey To The End of the Earth’ by Tishani Doshi in the book-Vistas and write down
all the textual questions & their answers in your fair note-book.
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2_*

qIATSTHT 9919 & {77 rer T8 997 fawg

A= g W QU T 2 | T e 9T a9t fauT

AT HTCHTAHRT H AT FAT & |

[ECIRICIE Il

Pratham

Alina

h&(l — XII
NO. | FIAFTAH | SHAFTAH | SIF HTATH SIRISCIRTE D]

1 FAIT T

Ankita Aman Pundir Bhumika
Longani

2 1
Ashu Pal Ayush Garg Garima Kkapil

3 ghae ag
Mohd. Asjad Shivank Bindal | Nancy Khatanaa

4 ST /e
Atul Saini Yashvi Saini Prakarti

5 =T aTs
Harsh Sharma Swati Rana

6 EEIEEKIRATE]
Mohd. Zaid Tanisha Malik

7 Itk g wRET
Nitish Kumar Vansh Bhaskar

8 Zor T S{raw @ gHTd
Rachit Bansal Abhinav Panwar

9 AATHIITHT




10 HIATSA TS %l ST
Tanu Nirala Khushi R
11 HETed A
Vedika Nishant
12 TAFHTIAT o ATH T
Swati Sharma Priyanka Singh
13 AT
Harsh Chy. Rajat
14 fEar wrey &1 sfae™
Shreya Gupta
15 TEar = ATfe e #7 Sfag™
Srishti Vats
16 BRG]
Vivek Sharma
17 qIfeTh qgFae ‘ST

Khushi Pundir

e ;- IRASET I9T7 F [T e HHT 1000952 § | FFafead qedi< ot Rasr g |




CLASS XII
INFORMATION PRATICES

1. Create a student table with the student id, name, and marks as attributes where the student
id is the primary key.

Insert the details of a new student in the above table.

Delete the details of a particular student in the above table.

Use the select command to get the details of the students with marks more than 80.

vk~ W

Create a new table (order ID, customer Name, and order Date) by joining two tables

(order ID, customer ID, and order Date) and (customer ID, customer Name, contact

Name, country).

6. Create a foreign key in one of the two tables mentioned above

7. Find the min, max, sum, and average of the marks in a student marks table.

8. Find the total number of customers from each country in the table (customer ID, customer
Name, country) using group by.

9. Create a new table (name, date of birth) by joining two tables (student id, name) and (student id,

date of birth).

10. Write a SQL query to order the (student ID, marks) table in descending order of the marks.



7.
8.
9.

PHYSICAL EDUCATION CLASS-XII

HOLIDAY WORK

Discuss the objective of planning in sports.

What are the lifestyle disease? How can we prevent them?

What is Hypertension? Discuss the benefits and contradictions of Vajrasana and
Ardhachakrasana.

Explain any three asanas, which are beneficial in preventing as well as curing
asthma.

Explain the causes of any postural deformities in detail.

Write short note on any two of the following indicating the causes and remedial
measures, flatfoot, knee knock and bow leg.

Write short note ADHD, ODD and OCD.

What is a physical disability?

What are the benefits of physical activity for children with special need?

10. What do you mean by congenital deformity?



